/“""f‘"'" Jok ST 4
Algebral Name: AKX AN i
Gnit2R o Date: ) Block: J
¥ T/q;igj Things to Examples L
\ remember ;
E W Every input only 1. Determi aphisa 2. Determine if the table represents a é
jifa | hasoneoutput function. function. n O 7 ;
| refation s | (each ¢ only has QS §
| a function. one ) / , x|y i
-1
Use the vertical / &« ’O’J: ‘E
line test on : 1
graphs. %\3 }
; [ |
| i |
‘Evalu_ate f(x) function 3. Evaluate\f(4). — 3-,_[ 4. Find the value of
ifunCthI"lS. notation f(x) =4x —2whenx = —1. |
T it o B, TR N AT
, ‘2’ for every ‘X’ in ‘?(q):(gi?z('@,’ ] S Q(_,,"_‘: H‘__(; L"#
5 the function! 23-1 =27
5. Find the value of f(5). NO Soluvtion
6. Find the value of x for f(x)=2. e
7. Identify the maximum and minimum in function notation. Wﬁthé
| 215
Moy $(2)=1 g
8 4
" . —o—13
\l min £( P==7 : 2
.! : " g |
a = X = |
| -24—@ |
1 o——13 |
G E h 2 L L 7 %
raph a 5 _— e ® * o =
]finear. e 8. Graph: f(x) Ix+6 9. Graph: —4x + 3:); e 1 o190 E
unftton. *Always graph the A T ;
\\ y-intercept first! e b o
b': b m=
| 4 T
mn=-2 : |
o 3 ]
| i
|
/ Y \\
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10. Graph: y =-
% ol 200"-}‘0—0
Ling
< >3
Grapha | Dashed line: 1. 2x-3y>9 "[73 3752\ |12, Graph: x> -2 vecticed
linear - =P A= <78 2 T L7 S T Ling
inequality. o = S=== |
SR Solid line: b '23 = ] clo—{-@ec\
SarE m- R right
Isold R oSEEE e
*Don’t forget to T % "'# bw| X =
shadel X 2t hE | M=
- — m— =
- 11 \ = =1
LT e
) 0 BN L -
13, P )
Domain: —Qﬁ‘%ﬁo) RQ"QS‘Q‘J‘MJ
N Interval of Increase: D O\R
Interval of Decreqse OO)
] " Maximum:_ NDN@ Mlmmum Nonk
End Behavior: As x> f(x1-> - M
Asx—)—m fix)>

Ieros;[_'_sf_ X-Intercep l'5 Y-imercept

| 14. What is the average rate of

15. Which function has the greater rate

change from x50 to x=4? of change? .
) ( 5) Function 1: 2/; 14
unction 1:y=2x+ )
(op) (12
/ : Function 2: (G, 4), (1, 8), (2, 12) _LL Y= e~
Pt
9.5‘0 2.5 d 44 +i

625 ) E_ch*“’m = l
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Glclate | “slope”
ha P 16. The table to the right shows the Time Runner A | Runner B
— p— distance (in meters) Runner A and 0 12 1(2)0
rate of m= ;‘Tx— Runner B ran at different time 90 . PIER)
change. 2 "M intervals. Which runner has a _2%—-_—'%%3;___ 287 O
average speed from 20 to 31
seconds;‘v/w
Runner A 3%1-16% - W - 3,2 m/s
31 -20
.-._2_-]—_-[-“ =2 = :Lli = gl 2— WS
31-20 |
17. Write the equation of the line 18. Write the equation of the line that
that has a slope of — % and contains | contains the points
-2,2)and (2, -2).
the point (4, 6). (A \{i)_a; _; 2 ‘1?2.
L=sye T orgll e 2= [j=X |
(D - _ﬁ -kb - (9 Lf ‘2 :B‘HD
mz - -
b = -a.z-l’b/ } O"b
S=b ‘
Writethe | y —y, =m(x=x,)| 19. Write the equation of the line | 20. Write the equation of the line that is
ERgaton that is parallel to the line perpendicular to the line y = 3x+ 2 and
ofaline. . .
¥ = —4x — 1 and contains the contains the point (0, 11). |
point (1, 5). Pacpendicwlar sope = =73
\ = b
\e\ Slope =-Y g
(=B | = §(oyrb = -5 X4l
NEGCAL L | e ots
B = =Uth H=hb
Rl o
Arithmetic | Explicit form: 21. Determine the first four terms of
Sequences | g =q,+(n-1)d| the sequence:
a,=7
N Recursive form: a,=a,,~3
a,=
a,=a,,+D —7) L') ]) ;‘

22. Write the EXPLICIT and

RECURSIVE formula for the the following term values: Q.=
. . o An- lo

following sequence:
5,9,13,17... a,= &1 Q.. =

y 19 32
EXP\icH". 0., S+(n-DYy C[D

5+4n-4y
Qn= Hewl
Recurgives
e QI: 5
Oq\ :Qn—l+.-'

23. Given the sequence -3, 0, 3, 6... find
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Systems | Word problems 24. A large pizza at Palanzio’s Pizzeria y>-3x+4 _ ]
inequalities costs $6.80 plus $0.90 for each " y<3x-2 /
topping. The cost of a large cheese ) B 34
pizza at Guido’s Pizza is $7.30 plus 1147
$0.65 for each topping. How many \18 7
toppings need to be added to a large e - [l
cheese pizza from Palanzio’s Pizzeria il V.
and Guido’s Pizza in order for the h‘ 3
pizzas to cost the same, not including N )
tax? “L\r
L1n] | a o) M) ‘l““?: o
e B 1R 11
: ] =
8 : l |
I -~
V fol N\ v
154 ~—_ N\ .
Systems: | Graphing 26. Solve using Substitution 27. Solve Using Elimination 2 \">.3
Substitution 3)( 4 . 4x +2y=10 Yrxa9= IO -y=
Word Problems Gx-a<y Ll _E__é'i_é_h—
1,3_(;?-2 (a;‘:‘b | =2 (m )
Formulas | Solve for given 28 U=2x-2 , forx 29.-3x + 2y = -3, for y
variables: +3 + +3x 13k
=3%-3
Lg < ax ,
~ I | y=3¢-3
Properties | Apply the properties | 30.
or oEequality Given: 3x+12=8—18
i Prove: x=6
Statements Reasons
1. 3x+12=8x-18 |1. Gwen
2. 12=5x-18 |2. SubvaNies € copeclyy
3, 30 = 5x 3. _odaivion Rroceciy
4. 6=x 4. Dwision ?mec"%;\
15 x=6 5. S%mmeirrtg

Yoo,
\ )
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